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Chosen Option: D
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Chosen Option: B




Q.12 @ & Iugeh ShifenT ereg uikgi
AT g anangl
Ans X A =il

B
X C. alter
X D.g™

Question ID : 630680179344
Status : Answered
Chosen Option : B
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Question ID : 630680179364
Status : Answered
Chosen Option : A
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Chosen Option: D
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Status : Answered
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Question ID : 630680177126
Status : Answered
Chosen Option: B
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Comprehension:
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Status : Answered
Chosen Option : A




Comprehension:
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Status : Answered
Chosen Option: C

Question ID : 630680177125




Q.1 Select the correct spelling of the word underlined in the given sentence.
Judicial assasination today is reserved only for one race of the King's subjects.

Ans  «# A Assassination
< B. Assesination
< C. Assissation
25 D. Asesination

Question ID : 630680177347
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate option that conveys the meaning of the words in the brackets to
fill in the blanks.
At that time, 14 states were (arranged or displayed) against our country but we did
not become (unhappy and with no hope or enthusiasm) or downhearted.

Ans & A arrayed; despondent
25 B. collecting; celebratory
#< C. rallying; happy
#< D. campaigning; angry

Question ID : 630680177364
Status : Not Answered
Chosen Option : --

Q.3 Select the most appropriate adjective that can substitute the underlined word in the given

sentence.
This is a regime that has already used painted gas to murder thousands of its own citizens.

Ans & A.poisonous

/< B. orange
< C.mild

5 D. sunny

Question ID : 630680177380
Status : Not Answered
Chosen Option : --

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
A. We have triumphed in the effort to implant hope in the breasts of the millions of our
people.
B. We commit ourselves to the construction of a complete, just and lasting peace.
C. We succeeded to take our last steps to freedom in condition of relative peace.
D. We enter into a covenant that we shall build the society in which all South Africans, both
black and white, will be able to walk tall.

Ans X A BACD
7< B.DCBA
& C.CBAD
2< D. ABCD

Question ID : 630680177353
Status : Not Answered
Chosen Option : --




Q.5

Select the most appropriate article to fill in the blank. In case no article is needed, select
‘No article needed'.

By 1944, he was hugely respected leader.

Ans X A the
#< B. No article needed
& C.an
« D.a
Question ID : 630680177393
Status : Not Answered
Chosen Option : --
Q.6 Select the most appropriate proverb that can substitute the underlined sentence given
below.
Ranjini did a kind deed today. But that does not mean she has changed and will not be a
mean person anymore. One positive incident does not mean a certain situation will change.
Ans X A. One bad apple spoils all.
«# B. One swallow does not make a summer.
25 C. A grain of rice is test of the porridge.
< D. Every cloud has a silver lining.
Question ID : 630680177338
Status : Not Answered
Chosen Option : --
Q.7 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
(A) I'm not a Republican, and | don’t even consider myself an American.
(B) If you and | were American, there'd be no problem.
(C) I'm not a politician, not even a student of politics, in fact, | am not a student of much of
anything.
(D) I'm not a democrat.
Ans # A.CDAB
< B.DCBA
#< C. ABCD
2< D.CBAD
Question ID : 630680177349
Status : Not Answered
Chosen Option : --
Q.8 Select the most appropriate present tense of the verb in the brackets to fill in the blank in
the sentence below.
Then, the dude (run) the meeting jerked his chin at a kid who couldn’t have been
much older than me.
Ans X A.isrunning

#< B. was running
" C.running
25 D.ran

Question ID : 630680177400
Status : Not Answered
Chosen Option : --




Q.9 Select the most appropriate article to fill in the blank. In case no article is needed, select
‘No article needed'.
Meanwhile, in

Ans X A a

Arabian Desert, British troops waited anxiously for the order to invade.

#< B. No article needed
& C.an
" D. the

Question ID : 630680177389
Status : Not Answered
Chosen Option : --

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
(A) Rather it seems to me that throughout my life in politics our ambitions have steadily
shrunk.
(B) It is sometimes said that because of our past, we, as people, expect too much and set
our sights too high.
(C) Our response to disappointment has not been to lengthen our stride but to shorten the
distance to be covered.
(D) That is not the way | see it.

Ans X A DCBA
< B.BACD
& C.BDAC
2< D.CBAD

Question ID : 630680177351
Status : Not Answered
Chosen Option : --

Q.11 Select the correct spelling of the word underlined in the given sentence.
A scientific analysis conclooded that they are in fact a genuine record of Casement’s deeds.

Ans X A.Cuncluded
< B. Cuncloded
#< C. Cunclooded
«# D. Concluded

Question ID : 630680177342
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate synonym of the underlined word.
In 1947, after decades of struggle, the British finally relinquished their grip.

Ans X A.Pawned
#5 B. Retained
25 C. Traded
«" D. Surrendered

Question ID : 630680177332
Status : Not Answered
Chosen Option : --




Q.13 Select the most appropriate option that can substitute the underlined segment in the given

sentence.
But over the course of the 1790s, it was the familiar three that became more famous than

others.
Ans X A. adventurous

#5 B. notorious
25 C. egalitarian
4" D. pre-eminent

Question ID : 630680177378
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate ANTONYM of the underlined word.
India is emerging from poverty to become one of the world’s major democratic powers.

Ans X A. Arising
#< B. Shining
#< C. Arriving
«" D. Submerging

Question ID : 630680177326
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate present tense of the verb in the brackets to fill in the blank in
the sentence below.
Just then, a woman
wall.

Ans " A appears

(appear) so silently she might as well have emerged from the

75 B. appearing
25 C. has appearing
< D. is appearing

Question ID : 630680177398
Status : Not Answered
Chosen Option : --

Q.16 Choose the option that substitutes the text given in brackets in the sentence below.
But, (having to deal with something that one finds difficult or threatening) with the harsh
reality of street fighting, he lost his appetite for war.

Ans  * A. confronted
25 B.tossed
25 C. Mangled
< D. Confused

Question ID : 630680177375
Status : Not Answered
Chosen Option : --




Q.17 Select the most appropriate preposition that can substitute the underlined word in the given
sentence.
I do not shrink for this responsibility, | welcome it.

Ans o A from
X B.at
#< C. behind
#< D. through

Question ID : 630680177387
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate idiom that can substitute the underlined segment in the given
sentence.
Raju’s joke about Ramesh's limp was certainly unfair and cruel.

Ans & A below the belt
25 B. above board
< C. splitting sides
5 D. below the line

Question ID : 630680177334
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate option that conveys the meaning of the words in the brackets to
fill in the blanks.
And those (very many, too many) millions were becoming ever more
skill or effort) to rule.

(needing

Ans X A. starving; hungry
#< B. dirty; needy
« C. countless; difficult

< D. needy; pounds

Question ID : 630680177359
Status : Not Answered
Chosen Option : --

Q.20 Select the most appropriate option that conveys the meaning of the words in the brackets to
fill in the blanks.
The great (long areas of something) of British pink that covered the continent on
schoolroom maps gave way toa______ (cloth made by sewing together a lot of smaller
pieces of cloth with different patterns and colours) of newly independent nations.

Ans X A. plains; blanket

< B. flags; duvet
< C. mountains; quilt
" D. swaths; patchwork

Question ID : 630680177366
Status : Not Answered
Chosen Option : --




Q.21
Ans

Comprehension:

Read the following passage and answer the given questions:

Vivienne didn't have it easy. A single mother, born to working class parents in 1941 near
Manchester, the self-taught designer started by taking classics like T-shirts and slashing
them, rolling up the sleeves, writing things on them—as punks did. Then, in the 1980s, she
became enamoured of high culture and began doing the most beautifully draped evening
gowns on the ramp. Look at her trajectory: she was mostly a sportswear and loungewear
designer, but she took fabrics and she played with them. She used a little cotton, she used
plaid, she did knits. She’s the one that brought the giant platform shoes with the 13-inch heels
that Naomi Campbell stumbled over on the ramp wearing. The Gillies heels that Westwood
launched in 1993 in her ‘Anglomania’ collection is a style that was originally made in Scotland
over 500 years ago. She put the bustle into the mini skirt and took corsetry to another level.

SubQuestion No : 21
Identify the synonym of the word ‘trajectory’ used in the passage.
5 A. Portfolio

< B. Collection
«# C. Path
25 D. Record

Question ID : 630680177409
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the given questions:

Vivienne didn't have it easy. A single mother, born to working class parents in 1941 near
Manchester, the self-taught designer started by taking classics like T-shirts and slashing
them, rolling up the sleeves, writing things on them—as punks did. Then, in the 1980s, she
became enamoured of high culture and began doing the most beautifully draped evening
gowns on the ramp. Look at her trajectory: she was mostly a sportswear and loungewear
designer, but she took fabrics and she played with them. She used a little cotton, she used
plaid, she did knits. She’s the one that brought the giant platform shoes with the 13-inch heels
that Naomi Campbell stumbled over on the ramp wearing. The Gillies heels that Westwood
launched in 1993 in her ‘Anglomania’ collection is a style that was originally made in Scotland
over 500 years ago. She put the bustle into the mini skirt and took corsetry to another level.

SubQuestion No : 22

Q.22 Which of the following is not a fact cited in the passage?

Ans

< A.Vivienne used cotton, plaid and knits in her garments.
#< B. Vivienne was mostly a sportswear and loungewear designer.
< C. Vivienne was born in the year 1941.

«# D. Vivienne invented the mini skirt.

Question ID : 630680177406
Status : Not Answered
Chosen Option : --




Q.23
Ans

Comprehension:
Read the following passage and answer the given questions:

Vivienne didn't have it easy. A single mother, born to working class parents in 1941 near
Manchester, the self-taught designer started by taking classics like T-shirts and slashing
them, rolling up the sleeves, writing things on them—as punks did. Then, in the 1980s, she
became enamoured of high culture and began doing the most beautifully draped evening
gowns on the ramp. Look at her trajectory: she was mostly a sportswear and loungewear
designer, but she took fabrics and she played with them. She used a little cotton, she used
plaid, she did knits. She's the one that brought the giant platform shoes with the 13-inch heels
that Naomi Campbell stumbled over on the ramp wearing. The Gillies heels that Westwood
launched in 1993 in her ‘Anglomania’ collection is a style that was originally made in Scotland
over 500 years ago. She put the bustle into the mini skirt and took corsetry to another level.

SubQuestion No : 23
What is the meaning of the word ‘enamoured’ used in the passage?

" A. Liking something or someone a lot
< B. Disliking something

2 C. Fearing something

25 D. Respecting something

Question ID : 630680177408
Status : Not Answered
Chosen Option : --

Comprehension:
Read the following passage and answer the given questions:

Vivienne didn't have it easy. A single mother, born to working class parents in 1941 near
Manchester, the self-taught designer started by taking classics like T-shirts and slashing
them, rolling up the sleeves, writing things on them-as punks did. Then, in the 1980s, she
became enamoured of high culture and began doing the most beautifully draped evening
gowns on the ramp. Look at her trajectory: she was mostly a sportswear and loungewear
designer, but she took fabrics and she played with them. She used a little cotton, she used
plaid, she did knits. She's the one that brought the giant platform shoes with the 13-inch heels
that Naomi Campbell stumbled over on the ramp wearing. The Gillies heels that Westwood
launched in 1993 in her ‘Anglomania’ collection is a style that was originally made in Scotland
over 500 years ago. She put the bustle into the mini skirt and took corsetry to another level.

SubQuestion No : 24

Q.24 Identify the tone of the passage.

Ans

2 A. Sarcastic
< B. Bitter
2% C. Humorous

«" D. Laudatory

Question ID : 630680177407
Status : Not Answered
Chosen Option : --




Comprehension:
Read the following passage and answer the given questions:

Vivienne didn't have it easy. A single mother, born to working class parents in 1941 near
Manchester, the self-taught designer started by taking classics like T-shirts and slashing
them, rolling up the sleeves, writing things on them—as punks did. Then, in the 1980s, she
became enamoured of high culture and began doing the most beautifully draped evening
gowns on the ramp. Look at her trajectory: she was mostly a sportswear and loungewear
designer, but she took fabrics and she played with them. She used a little cotton, she used
plaid, she did knits. She’s the one that brought the giant platform shoes with the 13-inch heels
that Naomi Campbell stumbled over on the ramp wearing. The Gillies heels that Westwood
launched in 1993 in her ‘Anglomania’ collection is a style that was originally made in Scotland
over 500 years ago. She put the bustle into the mini skirt and took corsetry to another level.

SubQuestion No : 25
Q.25 What is the central theme of the passage?
Ans  # A. Vivienne's work

< B. How heels evolved
#< C. Fashion in Britain

25 D. Influence of Scotland on fashion

Question ID : 630680177405
Status : Not Answered
Chosen Option : --

Section : General Aptitude

Q.1 g% (Dhrupad) 3R &R (Dhamar) g1 A geft & g Fafaf@a # 9 s=-a1 areare e

& & # Toan S 8?

Ans X AgH

< B. dael

" C. ugrest

5 D."eH

Question ID : 630680177469
Status : Answered
Chosen Option : B

Q2 __ ue U A @ o s srar & 8 o R wR, S oft ey fy syl fr st 8,

wmw&mmwa.amﬁmﬁﬁmmaﬁaawméu
Ans X A. g Trer
X B. Srefeza urer

o C. gAY aier
2< D. #iifeen wiar

Question ID : 630680177483
Status : Answered
Chosen Option : A




Q.3 ¥R WFR, @ HATT Y Fiftfer RUtE 2021-22 & SIGER ¥R A F=faf@a 7 @ fra @
Y wHt 22 39 @fAS T SmaTd T §f R ©9 & Uy " el AT & a1y gifsor i
HiT &l OR1 e & g siz/ar @fast snenfRa Saanel & fastw oit & fAwtor 3 forg forar smar 81

Ans X A <fi= fg) smenfRa gt & um ofk s
2< B. dfeISe, ShiHTEe, Tig STa%eh SR AT IR
o C. BrTse, Aarse ofk Aiet gferaa
#< D. ¢itg qd geuTd, TegHifam ik didfe

Question ID : 630680177490
Status : Not Answered
Chosen Option : --

Q4 WRaFHRYMF____ & sl onf d =i & AR wR ufaEy nfae &1
Ans X A ages 22

< B. argeae 25

o C. ST=o5¢ 24

2 D. argee 23

Question ID : 630680177517
Status : Answered
Chosen Option: C

Q.5 2022 #, fAfdfa arararor, aRagq, sik ga=T gd dar et (ICT) mRffaw &= J Reai
aafwal & forg |rdHiHe uga a9 & g nurmsl ZR1 -1 sifSar 3 R war ar

Ans X A TR den-ichl SiferaT (Sugamya Takniki Abhiyan)
2% B. Rk=aie= g $if¥ia (Divyangjan Sugamya Abhiyan)
X C. Rt @7 sif¥ra (Divyangjan Lakshya Abhiyan)
«” D. TR AR Sif$ard (Sugamya Bharat Abhiyan)

Question ID : 630680177434
Status : Answered
Chosen Option: B

Q.6 A H, FFRA AT T gHEABI FHAGT R gl ST 8l
Ans X A. fawgd (oogamous)

#< B.gm™gd (progamous)

o C. SOl (anisogamous)

#< D. GHgwehT (isogamous)

Question ID : 630680177504
Status : Answered
Chosen Option: C




Q.7 fA=fafEa d 9 fora geun e &t g &9 @ siesr fwar (Kotada timba) &gt STTaT 82
Ans X A ¥UTR (Rupnagar)

< B. aftret (Lothal)

/< C. "igtsiigst (Mohenjo-Daro)

" D. ¥lardRT (Dholavira)

Question ID : 630680177460
Status : Answered
Chosen Option: B

Q.8 fegwarit @ifia & 1 & ar A g g wuEl 7 @ Fi9-a17/3 98 8/8?

. 1€ &} UhR & gia & - 3imgd Sk eFTgd|
I1. 31Tgd ATE &Y a3t & ofor / SmaTd | T gl &, SrHTed ATg ddenmd 81
1. AR, ferar iR tafy-wRey sge A1 Y = fRAstwand &)

Ans X A IRl
< B.%hadt |
o C.LISRI
X DRI

Question ID : 630680177475
Status : Not Answered
Chosen Option : --

Q.9 <i=h # 2021 A= 39 aifewT AfrAfAT (National Race Walking Championships) & éla AR
= Frafafaa & @ fora gde & 1:20:16 & w9 & a1y Reals swmam?

Ans X A. fega S (Triple jump)
«" B. 20km 3 dich,(20km race walk)
#< C. 35km ¥ dfeh (35km race walk)

#< D. &fdlt &g (Long jump)

Question ID : 630680177446
Status : Not Answered
Chosen Option : --

Q.10 fFr=fafEa & & sia-d @e1s aeR & are=er 3§ gs oft?
Ans X A. ¥carsl & o1Ts (Battle of Bhatvadi)

< B. UTAIR &Y 19T8 (Battle of Thanesar)
< C. R &t o118 (Battle of Dewair)
« D. @-a1 &1 F3T8 (Battle of Khanwa)

Question ID : 630680177449
Status : Answered
Chosen Option: D




Q.11

Ans

2022 & YR TR A IR 3T Trsil gikfAG (BEE) & Arens @ it gerdn o & deg e
areft aterTg oy | Frefafada & @ wa-t gien/atemng s @ a8 /87

I. @=< Us g Wi (Standards and Label (S&L) Programme)
II. g, #t g= #15€ (You, Me and Light - YML)
. g+t & g frwrad geddt gRT 39a s9ifa (Unnat Jyoti by Affordable LEDs for All -

UJALA)
IV. e wimgfé Aeret Ul (Street Lighting National Programme - SLNP)

XA Fadl
o B.&ad Il
X cousiRIv
25 D.lsRIN

Question ID : 630680177500
Status : Not Answered
Chosen Option : --

Q.12

Ans

SRES Ut ot il urél | farera far af gon it siRe's srigle & g e a1 simama |nfea
FOT UT?

o A. 1963
< B.1962
2 C.1961
2< D.1960

Question ID : 630680177521
Status : Not Answered
Chosen Option : --

Q.13 URd & Tl 3R dhg AT vei & sitad arfitfes auf & deu J R=faf@a & @ a9 a1 du=

Ans

T 82
X A, 3T SR AeTerT Y Sftd arfifes auf wHT= =t 2818 mm &1
& B. e 3R diergly & sitgd anfifer auf (998 mm) & siiche Ta §
X C. Tmmets, fsiRy, Aftg ofk BrqRr & sitad a1fdies auf (1881 mm) T@M 81
< D. g, et ofik dh1e 6 sitaa arftfes auf o= ot 617 mm g1

Question ID : 630680177492
Status : Not Answered
Chosen Option : --




Q.14 fA=faf@a 3 @ fra S=a =amarea 3 af 2022 & YR & Jdi=a ATy ZRT 1Sl hriarg!
Y srga T RE Y 1S 8, 9k 39 RE @ 379w aafhal &t erfard A anfae g_ i ergafa &
T$ 87

|. IRES
Il. ge=r
1. Te wer

IV. TareTd
V. derET

Ans o AL ISR
X B.L ISRV
X C.IVaiRV
2 DL INSR Y

Question ID : 630680177527
Status : Answered
Chosen Option : D

Q.15 g WRPR A 1 SR 2022 & Thel TG WIS Uehl= Sl ARTd o fi gfe 1 8, =it
fa=fra af 2022-23 & forg a@=g ghmi

Ans X A 12%
X B.13.2%
X C.10.8%
& D.9.6%

Question ID : 630680177436
Status : Not Answered
Chosen Option : --

Q.16 = g g fAaxor @ s = At i ugam= =

g &g ey, Ay wu @ add «ier A5 ud @ ufg T & a1 gon 81 3ueh! fi7 srenT-arer
Aferai TRk (Seraikella), g¥feraT (Purulia) 3R #gReiST (Mayurbhanj) & &= @ arreft &,
o4 & ugett g1 et gaEiel o g =t &1

Ans X A #forgd
< B. @b
X C. aifeeft
 D.B%

Question ID : 630680177467
Status : Answered
Chosen Option: D

Q.17 uerf # F 7uT g &1 uary & 3 Ui & Hey d Frafaf@a 3 @ &= a1 s v 82
Ans X A smerdadrar ot § ofiR g oftfaes 1or 1

2 B. sifaifohansfietdr faeard & ofk ves wemafes or 81
2 C. 99 aURS ¢ 7R Yo Tamafieh o7 &1
o D. HeTRahdT SIaURE & 3R Yk Iamafes o1 |

Question ID : 630680177512
Status : Answered
Chosen Option: B




Q.18 fA=faf@a & @ frw sifafmw & afdwa s srigter (Civil Disobedience Movement) &
HeifAa VOR &t ga & AT vidia RERT o) s sifdsr Ry 32

Ans X A 1835 0 rfafge
& B. ¥RATT U (SMTaTdenTet= L1fcha) sifafam, 1931
X C. gHmER ud (srorer & forg mieams) sifdfaaw, 1908
< D. vy o sifdfaem, 1910

Question ID : 630680177455
Status : Answered
Chosen Option: B

Q.19 wiferhl 3k swrdfehn swraf~aa= #31e1d {Ministry of Statistics and Programme
Implementation (MoSPI)} @ AR 3R RIS | HfAq a7 gt e & forg
Tafdes 519 g1 Gdetur (Periodic Labour Force Survey-PLFS) SIfSid &R @1 &1

Ans X A.2014-15

< B.2016-17
o C.2017-18
< D.2015-16

Question ID : 630680177441
Status : Not Answered
Chosen Option : --

Q.20 fA=ifef@d & & wiF-Hi gear @t segisit (Lord Dalhousie) & 9w g% ot?

1. &R 31ive-RAT gg iR dstra oht e

I1. zroTe & f&rgie (Doctrine of Lapse) @t ] fora ST SR Wt o faera
Il. ¥R # 39 uR o ufsiel &t ger are Tar 99 S

IV. Sheteh, A9 SR dag & = RyfRareal fi wmaar

Ans X A lll SR IV
X BRIV
X cosRI
& D. 13RIl

Question ID : 630680177459
Status : Answered
Chosen Option: D




Q.21 uga fo fafSa srefemawn & ot ofk glu & Hafda Ry 7g =il § 9 w9 @ @ &)

1. S srfegeeen &, aroTR smeTRa TieaTE=l & HIRUT Z&TaT 3R IeuTeehdT A gig; gl &
2. fafara srferawn WRaR &Y snffe ifa & areaw @ gfrgef mrufAwand RufRa & Hir
gl At g

3. faf3a srefeaawur & wii &t FeaTorRRt Irea ot & forg w9 =i o1 e A i

STITRT gl &

4. faf9a srfegew, TR g8 & aroTR-faga el & e & a9 Hend! &

Ans X A 334
X B.2,33R4
X C.123R4
o D. 132

Question ID : 630680177476
Status : Answered
Chosen Option: D

Q.22 F=fafEa Rl # T ok tenfh fRvm grr e g g vieifidh greari (National
Technology awards) @ Scvi@ 39 adf & a1 favam wan & e 528 g o mam o) rera g3

@l ggaH|
Ans X A TER HEifihl AR (e ReE) -2021
X B. UETT e k&R (MSME) - 2017
o C. U Uenfiteh! qReepR (wTé-311) -2010
25 D. TERT Tenfidhl [REepr (Racirstt fose s=rieed) -2004

Question ID : 630680177431
Status : Not Answered
Chosen Option : --

Q.23 YR wfeq fas fAam f@fads (TFCI) & ar & R=faf@a & @ o9 a1 sy mea 82
Ans & A TFCIT USiichd shraterd Has H &1
X B. TFCI Ueh W< =it S & i 1989 # wnfua fomar war e

< C. snfaeg &7 7 (TFCI) 7 sk ufassT (srfq YR eret st tetd Sifd e, Teraes,
fRwTeraTst # Tur/dema REté sier, onfe) =t # weyut st g off, 57t o5 wem o)

25 D. TS 3T & Jearae & udes ht I Ifafa &t RmiRen or TFCI &t wiroer &Y 78 off|

Question ID : 630680177486
Status : Not Answered
Chosen Option : --

Q.24 GrASIe WIfe Yaehiar' 2022 Y Rulé & qaR, ol Bigaw 2y g gft Teat & 18 anf
&Y 31 & U fAarg @A areht afgemei @ nfdera et orfdie (40% @ sifdw) 1

Ans o A SiifEan
2< B.ufgyH sma
X C. g
« D.fagr

Question ID : 630680177497
Status : Answered
Chosen Option : A




Q.25 =T T FAAT gar gl
Ans X A.9.1x1073Tkg

X B.6.63x 1073 kg

& C.1.6749x 1072 kg
2 D.1.66x107%7 kg

Question ID : 630680177508
Status : Answered
Chosen Option: D

Section : General Intelligence

Q.1 &= R 7ar 37 3@ (Venn diagram) 3 cof@adl @ §&ar &1 gofar § & Rafa, RfEe it
et #

=T # @ ai9-8r Feur & Rifea feet # sfa & § = Rafe =78 82
Ans XA D

X8 3

xc 7

¥#0 5

Question ID : 630680173383
Status : Answered
Chosen Option: D




Q2 fam mm a1 @ ufew R A Rw aw uy & s &S
- e & AR & v e udn
- gur & 37 frare & dfoe @ 1 e ugwt, afra R & 4 fea ag gen
- T & e ¥ da F ueer Reama wén
T & forw & forama odie
e XA e
X B. IIBA
X c gYar
v D FaTEaR

[ Question ID : 630680177578
Status : Answered
Chosen Option: C




Q3 Ry RweT wgpfant # @ woa agly & oo # BT @ sl e =

<1 ? $

D €
Ml Z B
T laz iy
o) ]
$ ¢
e ¢ X
) N
d X
& <
xc | GRS [
d X [
LT & B
ol )G
S @

Que

stion ID : 630680173443

Status : Answered

Chosen Option: D




Q4 g7 g A PR ¥ O & REEtRd A # e S|

« HST AT BT T, ag Tl F ofRrs 8 mouT B

. T, T & 4 m GE # L SRR 4 m a@w # @ b

« 2T, WEE & em URIA F ¥ S age & em IR & ¥

. 7Y, $2m & 2m RO F ¥

i o, T0A F SR A 4 m & A &l R gge & da f g feaeh ¥
Ans XA 6 m

<B4 m

C 8 m
A<D 10 m

Question ID : 630680177608
Status : Answered
Chosen Option: B

Q.5 6o Trnfiil Fr v Faw F Uge & M F 2571 T vw Bewr AR I v =S @ W @ RE
& T ¥ T & F aRR @ T ww g

Ans XA 34
X B 31
xc 32
v D 33

Question ID : 630680177571
Status : Answered
Chosen Option: C

Q.6 e fea H s &, "WRITER” &1 "XQJSFQ" frm Sam & 3T "SYMBOL" %1 "TXNAPK" foran
JMET ¥ & 37 o & "UPLOAD" & e Rrar areem?

Ans XA VQNMZE
+ 8 VOMNBC
X ¢ VQMNZE
« 0. VONMBC

Question ID : 630680173404
Status : Answered
Chosen Option: B




Q7 = RFeT & IO F S A Aeg ¥ I TR TEOT § S IEU e TR wes ¥ WEMOS
CASKET : KASCET : : GUITAR : ?

Ans XA TIUGAR
<8 JUTGAR
+ ¢ TUIGAR
XD JUGTAR

Question ID : 630680173422
Status : Answered
Chosen Option: C

Q8 =R sER-wag BT ov ¥, Twd ¥ & e weR & wEAe § 3R v e ¥ 59 e MR-

T T T4F Fi

Ans X A EHKN

< B RUXA

v ¢ GAQZ

<0 DGJM

Question ID : 630680176448
Status : Answered
Chosen Option: C
o

Q9 fam o Rweul F ¥ W HET-HHAE & TUA &I, F FefATa e & uwams B (7) @
ufaruE &Y wdar ¥

EXIT, FZLX, GBOR, 2, IFUJ
Ans X" A. HESF

X B. HDSF

« C. HDRF

X< D. HERF

Question ID : 630680177590
Status : Answered
Chosen Option: C

Q10 gr ww-aeE fE 7w €, 5 & 99 50 7R & veaae § i UE e €1 39 3T R
AHE & ThA HL

Ans A e
v & Ir-afEac
Xo HT ®T
X 0. HIAR

Question ID : 630680176453
Status : Answered
Chosen Option : B




Q11 =7 wo &, i Rw a0 e A 3% a1 & 7§ el F HGER, FEN FEl F ST FF GEAVIAE

T g a;?aa%mm%lag (mmaﬁmawﬁmwmngma

HTTSH Feal Bl

3w |7 |6 |5 (4|3 |8 |2 |9

q':f 9% | f = + - ( | )

ore:

1. 7fg "ge AR sifow dewr A 39 §, & 3 # K" F ®9 F Feag A aeem

2. ofx 9gem 3R 3w 3% 7w g, & 3 A" F T & FEas R S

324658097 % FT AF FAT
e XA A((+!1=()A

veKl+/=()K

XcAl+/=()A

xoK()!+/=K

Question ID : 630680176428
Status : Answered
Chosen Option: B

Q12 & 1% sfmer # T BT ¥ 1A TET F A ¥ WadT @ B @ Er

(@) 97 6579760789346738421245216786543 8 (gM)
Ans XA 8

KB 5

xXcC 7

« D 3

Question ID : 630680177596
Status : Answered
Chosen Option: B

Q.13 oF F=h F UiET T g 06 95 o Fa. <9F 3 e & e # swetdr o §) st @ oamd

Ans

T FaAY §?

v A AT
X B foar
xc 98

X 0. 3w

Question ID : 630680177613
Status : Answered
Chosen Option : A




Q.14 R oir Rwedt # & 37 Fpia & 90 &, F HAeATAHAT A@eT F UsaTEs Feg (7) @ ularufe

Ans

FT TEAT B

|

o 2 [[Ya || 90
O 7 b

[

[I1]
000

$:>ﬂﬂ

. /—\‘Q %
SR
xel O .
X0 Bﬁ \

Question ID : 630680177632
Status : Answered
Chosen Option: A

OB G o 3o @ ufew 3R A T ow uw @ 3R A

Ans

- v, di@ 3 Tge ¥ & g

- Tge, T HR MfdE F s #

. |, T ¥ wF ¥ ofea @fE @ o

- wfFE, mMfde F St & 3k Tge, @ka @ @ §
IHH ¥ FIH BT BT &7

XA gRe
v B ghg
Xc miae
X 0. AT

Question ID : 630680177584
Status : Answered
Chosen Option: B




Q.16 2 7rv Rearg F 08 o ST ¥ B 8% T2 U w9 ¢ 3R 8% A1 v anw i
@KL25GH#KU%8QGE&4KXY W?

Ans XA T
X B Teh
v C AT
XD.aﬁ-

Question ID : 630680176420
Status : Answered
Chosen Option: D

Q.17 frrafafa sael & cagEe 0 it @ fw e oy @ sat &
afe
X+ YR ATERF X, v o 98 &
X-Y#wmATEF X v Fraea &
XY@ AT E X v o R
MEN-C+F FTFITHCH MY FI TIY &2
ANS o A SteaT
ve O3
Xc s
X 0. fogr

Question ID : 630680177611
Status : Answered
Chosen Option: B

Q.18 7w et & ¥ 3@ T = T FIeT = FERTT gger # wF FEa (7) F aforate =

Herdlr ¥
5, 7, 10, 15, 22, 33, 46, ?

Ans w n B3
x<B 61
X c 60
XD 62

Question ID : 630680176474
Status : Answered
Chosen Option : B




Q.19 fam omr Rwedl # & 3§ HAT & 999 &Y, 1 Detaiad gHer # usaes Reg (2) & vl
& T E

227.78 — 123.76 + 68.89 + 33.69 x 68.37 = ?

Ans X A 422
X B 344
v C 242
XD 224

Question ID : 630680177653
Status : Answered
Chosen Option: C

Q.20 Five boys Alok. Abha, Aayush, Anmol. and Aditya are sitting in a straight line facing, North. Aayush sits to the
immediate left of Anmol and to the immediate right of Abha. Alok sits to the immediate right of Anmol and Aditya sits
to the immediate left of Abha. Who sits second to the right of Alok?

Ans X A Abha
X B. Aditya
X C. Anmol
« D. Aayush

Question ID : 630680176395
Status : Answered
Chosen Option: D

Question ID : 630680176391
Status : Answered
Chosen Option: C

Q.22 ofordhs Reet & W& FEE B IO B, S Pide w0 @« Ree o aieriie e @ea ¢ R o
T AT P TIT F TR B

45 + 119 = 15 = 68 = 87 = 338
Ans XA F 4+, = ox, =

KB+, +, =, =, -

XCo=, F =, +,

vD K] +I +I _! =

L]
+
*

Question ID : 630680177656
Status : Answered
Chosen Option: D




Q.23 fam o7 et & ¥ 3@ HEA & AT I, S AEfd g@er # uda=d Rew (7) & viasfg
& Fwdr B

20, 25, 35, 50, 70, 85, ?

Ans XA 115
« B 125
X C 130
XD 120

Question ID : 630680177645
Status : Answered
Chosen Option: B

Q24 =z gdor F XY X 1@ 70 ¥ @ & 7 sl F ooior F B v sl wwfe S

X

OK\E

N

Ans 4 m m

Question ID : 630680173440
Status : Answered
Chosen Option : B




Q.25 R 7w Rwedt # & 3§ Fpia & 909 wi, F HAeATSHAT AW F UNaTES Feg (7) @ uarufe

F wEAT B
=, [
t*; o o ‘\\ N
Ans
AR RN
A AR
X A
(NGAN

o B.
VEY
B IRSRYYY
oo
ARS RN
| Rasas

Question ID : 630680177631

Status : Answered

Chosen Option: B
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Question ID : 630680178007
Status : Answered
Chosen Option: C
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Question ID : 630680178003
Status : Answered
Chosen Option: D
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Question ID : 630680177972
Status : Answered
Chosen Option : A
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Question ID : 630680177987
Status : Answered
Chosen Option: D
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Question ID : 630680177985
Status : Answered
Chosen Option : D
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Question ID : 630680178001
Status : Answered
Chosen Option: B
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Question ID : 630680177960
Status : Answered
Chosen Option: C
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Question ID : 630680177997
Status : Answered
Chosen Option: C
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Question ID : 630680177963
Status : Not Answered
Chosen Option : --
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Question ID : 630680178018
Status : Answered
Chosen Option: B
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Question ID : 630680177978
Status : Answered
Chosen Option: B
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Question ID : 630680177991
Status : Answered
Chosen Option: C
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Question ID : 630680177975
Status : Not Answered
Chosen Option : --
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Question ID : 630680177956
Status : Answered
Chosen Option: D
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Question ID : 630680178026
Status : Not Answered
Chosen Option : --
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Question ID : 630680178011
Status : Answered
Chosen Option: B
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Question ID : 630680177953
Status : Not Answered
Chosen Option : --
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Question ID : 630680178023
Status : Answered
Chosen Option: C
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Question ID : 630680178031
Status : Answered
Chosen Option : A
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Question ID : 630680177969
Status : Answered
Chosen Option: C
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Question ID : 630680178037
Status : Answered
Chosen Option: C
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Question ID : 630680177948
Status : Answered
Chosen Option : A
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Question ID : 630680178040
Status : Answered
Chosen Option: B
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Question ID : 630680178033
Status : Not Answered
Chosen Option : --
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Question ID : 630680178014
Status : Answered

Chosen Option : A






